
Task 
 

The graphs below represent the motion of an unusually large earwig yesterday morning. 
For each graph, write a description of the earwig’s movements. 
 

Graph What’s happening? 

 

 

 

 

 

 

 

 

 

 

Extension: 
If that was too easy, in your book sketch a distance time graph for the following 
scenario:  
A motorbike is stuck behind a slow moving car on a country road for 20 seconds. The 
biker then accelerates to pass the car and continues accelerating until he reaches the 
speed limit (because he’s a responsible and law-abiding biker!).  The total time spent 
accelerating is 5 seconds.  After 10 seconds at the speed limit, he spots a cow in the 
road and completes an emergency stop, reaching a complete standstill in 5 seconds. 
He waits for 10 seconds until the cow walks off the road. 
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